Securing the world and beyond
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Auto (1/30 ~ 1/30,000sec.) / Suppress Rolling / Manual
Auto / Push / Indoor / Outdoor / Fluorescent / User
Auto / Day (Color) / Night (BW)
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TCP/IP, UDP/IP, RTP, RTSP, RTCP, NTP, HTTP, DHCP, FTP, SMTP, DNS, DDNS
Ver.24.2
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H.264 / MIPEG

2560x1920/ 2560x1600 / 20481536 / 1920x1080 / 1600x1200 /
1280x1024 / 1280x960 / 1280x720 / 1024x768 / 854x480 /
640x480 / 640x360 / 320x240 / 320x180
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RTP/RTSP, Unicast RTP, Multicast RTP
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-10°C~50°C

-20°C~60°C

0% ~80%

DC 12V (10%) / PoE
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